

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLT 6602B

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
2	REAR NUMBER PLATE LAMP @\$32.80	NOT NECESSARY	65.60	-
1	REAR BUMPER	DISTORTED	1,150.60	1,150.60
1	REAR BUMPER CLIPS	NECESSARY	50.00	30.00
2	REAR BUMPER SIDE HOLDER @\$26.50	NECESSARY	53.00	53.00
2	REAR BUMPER SPONGE @\$89.50	CRACKED	179.00	179.00
2	REAR BUMPER REFLECTOR @\$48.20	O/S CRACKED	96.40	48.20
2	REAR BUMPER REFLECTOR GARNISH @\$45.00	O/S DISTORTED	90.00	45.00
1	REAR END PANEL	DISTORTED	560.80	560.80
1	REAR END PANEL TOP GARNISH	DISTORTED	155.50	155.50
1	REAR END PANEL ANTENNA SENSOR	CRACKED	85.40	85.40
1	REAR END PANEL BUZZER SENSOR	NOT NECESSARY	88.20	-
2	TAILLAMP @\$520.50	N/S CUT / O/S CRACKED	1,041.00	1,041.00
2	TAILLAMP PANEL @\$268.00	O/S DISTORTED	536.00	268.00
2	TAILLAMP INNER PANEL @\$210.20	O/S DISTORTED	420.40	210.20
1	TAILGATE	DISTORTED	1,193.00	1,193.00
1	TAILGATE LOCK	JAMMED	157.10	157.10
1	TAILGATE WEATHERSTRIPE	CUT	168.50	168.50
1	TAILGATE INNER TRIM BOARD	CRACKED	320.40	320.40
1	TAILGATE INNER TRIM BOARD CLIPS	NECESSARY	30.00	30.00
2	TAILGATE LAMP @\$395.00	N/S NOT NECESSARY / O/S CRACKED	790.00	395.00
1	TAILGATE CHROME MOULDING WITH GARNISH	CRACKED	383.10	383.10
1	TAILGATE CHROME MOULDING CLIPS	NECESSARY	20.00	20.00
1	TAILGATE INNER PULL HANDLE	DEFORMED	25.50	25.50
2	TAILGATE DAMPER @\$165.00	BENT	330.00	330.00
2	TAILGATE HINGE @\$50.20	NOT NECESSARY	100.40	-
1	TAILGATE OUTER LOCK OPENER SWITCH	NOT NECESSARY	175.50	_
1	TAILGATE LOCK STRIKER	DAMAGED	27.50	27.50
1	TAILGATE GLASS MOULDING	NECESSARY	120.00	120.00
1	HONDA LOGO	NECESSARY	38.00	38.00

Report Ref No. CC4/FCI20002104/Aba3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SHUTTLE EMBLEM	NECESSARY	55.00	55.00
1	HYBRID EMBLEM	NECESSARY	80.10	80.10
1	REAR RH FENDER	DISTORTED	1,010.90	1,010.90
1	REAR RH FENDER AIR VENT	DISTORTED	38.00	38.00
1	REAR RH FENDER GLASS MOULDING	NECESSARY	72.40	72.40
2	REAR FENDER INNER TRIM BOARD @\$455.00	DEFORMED	910.00	910.00
1	REAR FENDER INNER TRIM BOARD CLIIPS	NECESSARY	60.00	60.00
2	REAR FENDER INNER SHIELD @\$110.50	O/S CRUMPLED	221.00	110.50
1	REAR FENDER INNER SHIELD CLIPS	NECESSARY	60.00	20.00
1	SPARE TYRE PANEL	DISTORTED	1,180.00	1,180.00
1	SPARE TYRE LOWER TOW PANEL	DISTORTED	398.00	398.00
1	SPARE TYRE COMPARTMENT TRAY GARNISH	DEFORMED	420.80	420.80
2	SPARE TYRE SIDE TOP COVER BOARD @\$122.00	O/S DEFORMED	244.00	122.00
1	SPARE TYRE TOOLS TRAY SPONGE	DEFORMED	285.00	285.00
1	SPARE TYRE TOP COVER	DEFORMED	585.50	585.50
1	SPARE TYRE TOP COVER INNER	DEFORMED	586.70	586.70
1	REAR HYBRID INVERTER BLOWER	NOT NECESSARY	540.00	-
1	REAR HYBRID INVERTER BLOWER AIR DUCT	CRACKED	138.70	138.70
1	REAR HYBRID INVERTER TOP COVER	NOT NECESSARY	397.70	-
1	REAR HYBRID INVERTER TRAY GARNISH	NOT NECESSARY	285.40	-
1	REAR HYBRID INVERTER UNIT	NOT NECESSARY	98.50	-
1	REAR EXHAUST PIPE	BENT	745.00	745.00
1	REAR EXHAUST GASKET	NECESSARY	32.80	32.80
2	REAR EXHAUST MOUNTING @\$32.00	NOT NECESSARY	64.00	-
1	REAR EXHAUST HEAT SHIELD	CRUMPLED	125.20	125.20
1	CENTRE EXHAUST PIPE	BENT	585.40	585.40
1	REAR AXLE	BENT	1,080.00	1,080.00
2	REAR WHEEL HUB C/W BEARING @\$321.00	O/S DAMAGED	642.00	321.00
2	REAR SHOCK ABSORBER @\$330.00	O/S BENT	660.00	330.00
1	REAR RH DOOR LOCK	NOT NECESSARY	210.80	_
1	REAR RH CHASSIS SUB MEMBER	TO REPAIR SEE LABOUR	855.00	-
1	WIPER MOTOR	NOT NECESSARY	490.00	-

Report Ref No. CC4/FCI20002104/Aba3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR BUMPER UNDERCOVER LH	NOT NECESSARY	98.30	-
1	REAR BUMPER UNDERCOVER CLIPS LH	NOT NECESSARY	10.00	-
1	REAR BUMPER UNDERCOVER RH	TORN	95.20	95.20
1	REAR BUMPER UNDERCOVER CLIPS RH	NECESSARY	10.00	10.00
1	REAR BUMPER TOW COVER	DISTORTED	16.50	16.50
	LESS 20% DISCOUNT		-	-3,289.90
			21,838.80	13,159.60
	SPECIAL NETT ITEMS			
1	REAR NUMBER PLATE (SN)	BENT	30.00	30.00
1	REAR NUMBER PLATE HOLDER (SN)	DEFORMED	30.00	30.00
1	REVERSE SENSOR (SN)	DAMAGED	280.00	200.00
1	TAILGATE GLASS SEALANT (SN)	NECESSARY	60.00	60.00
1	REAR RH FENDER GLASS SEALANT (SN)	NECESSARY	40.00	40.00
1	REAR CAMERA (SN)	DAMAGED	480.00	380.00
1	REAR RH TYRE (SN)	NOT NECESSARY	220.00	-
			1,140.00	740.00
	LABOUR			
	PANEL BEATING.INCLUSIVE OF THE REPAIR OF REAR RH CHASSIS SUB MEMBER .		3,800.00	1,800.00
	SPRAY PAINTING.		1,800.00	1,400.00
	WIRING .		100.00	30.00
	TO UNDERSEAL .		250.00	160.00
	TO REMOVE REVERSE SENSOR .		100.00	50.00
	TO REMOVE REAR CAMERA .		100.00	50.00
	TO REMOVE UPHOLSTERY AND REAR SEAT .		380.00	200.00
	TO REMOVE REAR FENDER GLASSES.		200.00	60.00
	TO TRANSFER TAILGATE FITTINGS.		150.00	80.00
	TO REMOVE TAILGATE GLASS .		180.00	120.00
	TO REMOVE REAR AND CENTRE EXHAUST PIPE .		300.00	160.00
	TO REMOVE FUEL TANK .		150.00	80.00
	TO REMOVE REAR HYBRID INVERTER AND TO RE- PROGRAME.		1,600.00	750.00
	TOWING FEES.		100.00	60.00

Report Ref No. CC4/FCI20002104/Aba3q2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO REMOVE REAR UNDERCARRIAGE.		400.00	300.00
	TO PERFORM WHEEL ALIGNMENT.		150.00	80.00
			9,760.00	5,380.00
	GRAND TOTAL		32,738.80	19,279.60

RECOMMENDED COST OF LUMP SUM REPAIRS		15,400.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC4/FCI20002104/Aba3q2



ADRIAN LING WAI PING

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.